Space General

www.spacegeneral.co.nz

AVERVEREVEANV

Assembly Instructions - Thank you for your purchase.
Please follow the instructions below for correct assembly.







1PC

1PC

/

1PC

O O (7p]
a o =
(e0]
Z 7
| @
N
[\
N
O O (&b}
(o oo (e
£\ ,
—/
NS
\ ﬁ‘




D x1

A x16 Bx8 Cx4

5 5
M5x12 mm M6x12 mm

Ex2 FxA1 Gx2

Il
M4x10 mm

J x 1 Kx 1

A

2mm M4 x40 mm







Bx8

54

Ax8

N\
NG

M5%12 mm| M6x12 mm




\\\ |

AN

\
N
1=l




AxT7

S
NG

M5%12 mm

/

////
SN/
(

AV




=
= (ZEERY
— |




2mm

[ \ [ \© 97 |
—>
\ e )
,ﬁN
@N\@ =

AN

Q\E/ZM/Z




Kx1

A

Ax1

S

%
M5%12 mm

x|

N T N I\




Lx2

7
M#"

M4x40 mm

1<




Awesome!
You did it!

We'd love to see how it looks in your
space—share your setup and tag us on

Instagram @spacegeneralnz

Visit us at www.spacegeneral.co.nz.



